BliE B AE 109 25 RALHER LS HAA
#H8 © SR WA AHUBRRAN KRR E A
BE LARAR D APEERRLAE  WRTAR  FRDE  LERRABARRHEER  FARALSS -

1. Please list at least two kinds of binary trees and explained their features and

differences. (10 %+)

2. Please take an example to explain the differences between Recursion and

Iteration. (10 %)

3. ISO stands for International organization of Standardization. This is called a
model for Open System Interconnection (0SI). How many layers or levels are
there in a complete communication system of OSI model? Please write down
each layer from the first one (i.e., the lowest layer which is related to the
hardware the most). (10 %)

4. Please explain what Linear classifiers is in machine learning (5 %), please

propose a simple example to explain (5 4°).

5. Please use pseudo code or any programming language you know to show an
Insertion Sort and Selection Sort algorithm which can rank the number from the

smallest to the largest among N integers. (10 4-)
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